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MATHS 104 
Test 1 

 
Question 1: 
 

(a) Evaluate    
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(b) Find the derivative of  53)( 2 −= xxf by using the definition of the derivative as a 
limit.            

 
 
Question 2: 
 
(a) Find the equation of the tangent line to the curve 3+= xy  at 6=x .  
(b) Differentiate the following: 
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 (ii) ( )432 1−= xxy          
Question 3: 
 
A manufacture finds that the cost of producing q units is given by  
 
 32 001.02.0501000 qqqC +−+=  
 
(a) Find the marginal cost when 20=q  units.      
(b) Find C  and then the rate of change of C .      


